Sommerfeld Theory of MeTabs - S. far we have ignored That we love a multi c system. (ne solved a non interacting c problem) - We will still continue with This CE-E interactions will come soon () - Instead of moving forward, lets actually simplify even more => igoue battice ! (i.e, -> Sommerfeld Model Bloch c-J HeTal with m conduction e per atom. (N=m.#ats)
 Ar These e feel a constant potential Througout The
 crystal [ t² t² + Ec] (C) = E (C)
 [ Zm V² + Ec] (C) = E (C)
 [ Zm V Forcier componento except Vo = Ec]
 . U = pinr
 .  $\cdot \psi_{n} = \frac{1}{V} e^{ikr}$  $E_n = E_c + \frac{k^2 k^2}{2m}$ We set to \$ for simplicity

+ We have N free  $c^{-}$  in Volume V.  $\left(n = \frac{N}{V} = \operatorname{dewn} t_{y}\right)$ -> Vsejul parameter: 15 -> radius of sphere containing 10  $\frac{V_0}{e} = \frac{V}{N} = \frac{4}{3}\pi r_s^3 ; r_s = \left(\frac{3}{4\pi n}\right)^{1/3}$ In we usually make it dimensionless -> r's = <u>rs</u> (NoTe That a bohr radius it's called rs both dimensionless and none ...) \* Ground State: Net fill in The N lowest states . Spin => each state holds 2c (1+), "Vacuum back" Evec  $\frac{1}{E_{F}}$   $\frac{1}{E_{F$ Acciprocal space

· Fermi Surface in K space given by E(+) < EF systemates empty (macapied) & occ states. . For Force e Fermi surface is a sphere of radius kr · KF given by requirement That Total Ho) states = N  $N = \sum_{k=2}^{N-1} \sum_{\substack{z=V \\ r}} \int d^{3} \kappa z = z \frac{V}{(2n)^{3}} \frac{4}{3} \frac{\pi}{3} \frac{K_{F}^{3}}{3\pi^{2}} \frac{V}{K_{F}^{3}}$   $\Longrightarrow K_{F} = (3\pi^{2}n)^{\frac{1}{3}}$ • Using  $\Gamma_{\rm S}$ :  $K_{\rm F} = \left(\frac{9\pi}{4}\right)^{1/3} \frac{1}{\Gamma_{\rm S} \cdot a_{\rm B}}$ • Taking  $\vec{p} = t_{F}\vec{k}$  we can also define a Fermi velocity  $\vec{V}_{F} = \frac{t_{F}}{m}\vec{h}_{F}$ \* Fermi Energy:  $E_{F} = \frac{t_{F}^{2}k_{F}^{2}}{zm} = \frac{t_{F}^{2}}{zm}\frac{(q_{T})^{V_{3}}}{(q_{F})^{V_{3}}}$ 

The Total energy of The + We can now compute free c gas as; frie c gas as;  $H_{F} = 2 \underbrace{=}_{n} \frac{\hbar^{2} \mu^{2}}{2m} = 2 \underbrace{V}_{(2\pi)^{3}} \int_{\pi}^{\pi} \frac{d^{3} \pi}{2m} dx = \frac{4\pi \hbar^{2} dx}{2m}$  $= 3\Pi \frac{V}{(2\pi)^3} \frac{h^2}{2m} \frac{H_F^5}{5}$  as  $N = \frac{V}{3\pi^2} \frac{3}{K_F}$  The energy/e-is  $\frac{E_{\circ}}{N} = \frac{3}{\sqrt{3\pi}} \frac{1}{5} \frac{1}{5} \frac{1}{2} \frac{1}{5} \frac{$ ★ We can compute The Density of states from The dispersion relation Ex = tizk ?  $O(E) = z \frac{V}{(2\pi)^3} \int \int \left(E - \frac{k^2 k^2}{zm}\right) d^3 k$ since  $K_0 = \frac{1}{k^2} \sqrt{\frac{2mE}{k^2}} \frac{1}{|f'(k_0)|} = \frac{m}{\hbar^2 |k_0|}$ only + in itegration range

 $\begin{array}{l}
\left( \mathcal{E} \right) = \frac{zV}{(zn)^3} & 4n \left( \frac{zm\varepsilon}{h^2} - \frac{m}{h^2} - \frac{h}{Vzm\varepsilon} \right) = \frac{V(zm)^{3/2}}{zn^2 + z} \\
\end{array}$ \* DOS for free e gas in 3D DOSMM $E_F$  $E_F$  $E_F$ - What about Finite T? . Identical Fermions => Fermi-Dirac distribution gives occupation probability Vs T  $f(E) = \frac{1}{(E-E_F)(k_BT)} + 1$ e N.T. here Ex is Ex (T)  $E_F$  above is  $E_F(T=0)$ usually  $E_F(T) = \mu$ (chemical potential)

 $\frac{\partial F}{\partial E} = -\frac{C}{\left(E - E_{F}\right)/k_{p}T} \frac{1}{1}$   $\frac{\partial F}{\int E} = -\frac{C}{\left(E - E_{F}\right)/k_{p}T} \frac{1}{12} \frac{1}{k_{p}T}$ - oschel fr T > 0 For T=0  $\frac{1}{1} \begin{pmatrix} -\partial F \\ \partial E \end{pmatrix} = \delta \begin{pmatrix} E - E_F \\ -\partial E \end{pmatrix} = \frac{1}{1} \begin{pmatrix} \partial E \\ \partial E \end{pmatrix} = \frac{1}{1} \begin{pmatrix} \partial E \\ \partial E \end{pmatrix} = \frac{1}{1} \begin{pmatrix} \partial E \\ \partial E \end{pmatrix} = \frac{1}{1} \begin{pmatrix} \partial E \\ \partial E \end{pmatrix} = \frac{1}{1} \begin{pmatrix} \partial E \\ \partial E \end{pmatrix} = \frac{1}{1} \begin{pmatrix} \partial E \\ \partial E \end{pmatrix} = \frac{1}{1} \begin{pmatrix} \partial E \\ \partial E \end{pmatrix} = \frac{1}{1} \begin{pmatrix} \partial E \\ \partial E \end{pmatrix} = \frac{1}{1} \begin{pmatrix} \partial E \\ \partial E \end{pmatrix} = \frac{1}{1} \begin{pmatrix} \partial E \\ \partial E \end{pmatrix} = \frac{1}{1} \begin{pmatrix} \partial E \\ \partial E \end{pmatrix} = \frac{1}{1} \begin{pmatrix} \partial E \\ \partial E \end{pmatrix} = \frac{1}{1} \begin{pmatrix} \partial E \\ \partial E \end{pmatrix} = \frac{1}{1} \begin{pmatrix} \partial E \\ \partial E \end{pmatrix} = \frac{1}{1} \begin{pmatrix} \partial E \\ \partial E \end{pmatrix} = \frac{1}{1} \begin{pmatrix} \partial E \\ \partial E \end{pmatrix} = \frac{1}{1} \begin{pmatrix} \partial E \\ \partial E \end{pmatrix} = \frac{1}{1} \begin{pmatrix} \partial E \\ \partial E \end{pmatrix} = \frac{1}{1} \begin{pmatrix} \partial E \\ \partial E \end{pmatrix} = \frac{1}{1} \begin{pmatrix} \partial E \\ \partial E \end{pmatrix} = \frac{1}{1} \begin{pmatrix} \partial E \\ \partial E \end{pmatrix} = \frac{1}{1} \begin{pmatrix} \partial E \\ \partial E \end{pmatrix} = \frac{1}{1} \begin{pmatrix} \partial E \\ \partial E \end{pmatrix} = \frac{1}{1} \begin{pmatrix} \partial E \\ \partial E \end{pmatrix} = \frac{1}{1} \begin{pmatrix} \partial E \\ \partial E \end{pmatrix} = \frac{1}{1} \begin{pmatrix} \partial E \\ \partial E \end{pmatrix} = \frac{1}{1} \begin{pmatrix} \partial E \\ \partial E \end{pmatrix} = \frac{1}{1} \begin{pmatrix} \partial E \\ \partial E \end{pmatrix} = \frac{1}{1} \begin{pmatrix} \partial E \\ \partial E \end{pmatrix} = \frac{1}{1} \begin{pmatrix} \partial E \\ \partial E \end{pmatrix} = \frac{1}{1} \begin{pmatrix} \partial E \\ \partial E \end{pmatrix} = \frac{1}{1} \begin{pmatrix} \partial E \\ \partial E \end{pmatrix} = \frac{1}{1} \begin{pmatrix} \partial E \\ \partial E \end{pmatrix} = \frac{1}{1} \begin{pmatrix} \partial E \\ \partial E \end{pmatrix} = \frac{1}{1} \begin{pmatrix} \partial E \\ \partial E \end{pmatrix} = \frac{1}{1} \begin{pmatrix} \partial E \\ \partial E \end{pmatrix} = \frac{1}{1} \begin{pmatrix} \partial E \\ \partial E \end{pmatrix} = \frac{1}{1} \begin{pmatrix} \partial E \\ \partial E \end{pmatrix} = \frac{1}{1} \begin{pmatrix} \partial E \\ \partial E \end{pmatrix} = \frac{1}{1} \begin{pmatrix} \partial E \\ \partial E \end{pmatrix} = \frac{1}{1} \begin{pmatrix} \partial E \\ \partial E \end{pmatrix} = \frac{1}{1} \begin{pmatrix} \partial E \\ \partial E \end{pmatrix} = \frac{1}{1} \begin{pmatrix} \partial E \\ \partial E \end{pmatrix} = \frac{1}{1} \begin{pmatrix} \partial E \\ \partial E \end{pmatrix} = \frac{1}{1} \begin{pmatrix} \partial E \\ \partial E \end{pmatrix} = \frac{1}{1} \begin{pmatrix} \partial E \\ \partial E \end{pmatrix} = \frac{1}{1} \begin{pmatrix} \partial E \\ \partial E \end{pmatrix} = \frac{1}{1} \begin{pmatrix} \partial E \\ \partial E \end{pmatrix} = \frac{1}{1} \begin{pmatrix} \partial E \\ \partial E \end{pmatrix} = \frac{1}{1} \begin{pmatrix} \partial E \\ \partial E \end{pmatrix} = \frac{1}{1} \begin{pmatrix} \partial E \\ \partial E \end{pmatrix} = \frac{1}{1} \begin{pmatrix} \partial E \\ \partial E \end{pmatrix} = \frac{1}{1} \begin{pmatrix} \partial E \\ \partial E \end{pmatrix} = \frac{1}{1} \begin{pmatrix} \partial E \\ \partial E \end{pmatrix} = \frac{1}{1} \begin{pmatrix} \partial E \\ \partial E \end{pmatrix} = \frac{1}{1} \begin{pmatrix} \partial E \\ \partial E \end{pmatrix} = \frac{1}{1} \begin{pmatrix} \partial E \\ \partial E \end{pmatrix} = \frac{1}{1} \begin{pmatrix} \partial E \\ \partial E \end{pmatrix} = \frac{1}{1} \begin{pmatrix} \partial E \\ \partial E \end{pmatrix} = \frac{1}{1} \begin{pmatrix} \partial E \\ \partial E \end{pmatrix} = \frac{1}{1} \begin{pmatrix} \partial E \\ \partial E \end{pmatrix} = \frac{1}{1} \begin{pmatrix} \partial E \\ \partial E \end{pmatrix} = \frac{1}{1} \begin{pmatrix} \partial E \\ \partial E \end{pmatrix} = \frac{1}{1} \begin{pmatrix} \partial E \\ \partial E \end{pmatrix} = \frac{1}{1} \begin{pmatrix} \partial E \\ \partial E \end{pmatrix} = \frac{1}{1} \begin{pmatrix} \partial E \\ \partial E \end{pmatrix} = \frac{1}{1} \begin{pmatrix} \partial E \\ \partial E \end{pmatrix} = \frac{1}{1} \begin{pmatrix} \partial E \\ \partial E \end{pmatrix} = \frac{1}{1} \begin{pmatrix} \partial E \\ \partial E \end{pmatrix} = \frac{1}{1} \begin{pmatrix} \partial E \\ \partial E \end{pmatrix} = \frac{1}{1} \begin{pmatrix} \partial E \\ \partial E \end{pmatrix} = \frac{1}{1} \begin{pmatrix} \partial E \\ \partial E \end{pmatrix} = \frac{1}{1} \begin{pmatrix} \partial E \\ \partial E \end{pmatrix} = \frac{1}{1} \begin{pmatrix} \partial E \\ \partial E \end{pmatrix} = \frac{1}{1} \begin{pmatrix} \partial E \\ \partial E \end{pmatrix} = \frac{1}{1} \begin{pmatrix} \partial E \\ \partial E \end{pmatrix} = \frac{1}{1} \begin{pmatrix} \partial E \\ \partial E \end{pmatrix} = \frac{1}{1} \begin{pmatrix} \partial E \\ \partial E \end{pmatrix} = \frac{1}{1} \begin{pmatrix} \partial E \\ \partial E \end{pmatrix} = \frac{1}{1} \begin{pmatrix} \partial E \\ \partial E \end{pmatrix} = \frac{1}{1} \begin{pmatrix} \partial E \\ \partial E \end{pmatrix} = \frac{1}{1} \begin{pmatrix} \partial E \\ \partial E \end{pmatrix} = \frac{1}{1} \begin{pmatrix} \partial E \\ \partial E \end{pmatrix} = \frac{1}$ \* How does EF change with T? (EF(T)=/4) · Sommerfield expansion -> Consider an integral with a generic suboth  $punction G(E) => G(E) (-\partial F) dE$  $\longrightarrow Expand G(E) around EF$  $G(E) = G(EF) + (E-EF) \frac{dG}{\partial E} \left( + \frac{1}{2} (E-EF) \frac{d^2G}{\partial E^2} \right) + \dots$  $= \frac{1}{2} \frac{d^2G}{dE} \left( + \frac{1}{2} (E-EF) \frac{d^2G}{\partial E^2} \right) + \dots$ 

-> InTegral becomes:  $\frac{d^2 G}{\partial E^2} | E=E_F$  $\int G(\mathcal{E}) \left(-\frac{\partial F}{\partial \mathcal{E}}\right) d\mathcal{E} = G(\mathcal{E}_{F}) + \frac{1}{z} G''(\mathcal{E}_{F}) \int \left(\mathcal{E}_{F} - \mathcal{E}_{F}\right) \left(-\frac{\partial F}{\partial \mathcal{E}}\right) d\mathcal{E}$ where we used the fact that  $\int \left(-\frac{dF}{dE}\right) dE = -\left[\int_{0}^{\infty} \left(-\int_{0}^{\infty} -\int_{0}^{\infty}\right)\right]$ And That add powers give zero contribution since  $-\frac{2d}{\partial E}$  in even around  $E_F$  (a deta). So  $(E-E_F) \begin{pmatrix} -dF \\ -dF \end{pmatrix}$ is an old fur around  $E_F$ , integrating for  $E(E-E_F)$ touisher. • Coefficient of The G" is: • Coefficient of The G" is:  $\frac{1}{2}\int (E-E_F)^2 \left(-\frac{\partial F}{\partial E}\right) dE = \frac{1}{2}\int (E-E_F)^2 \frac{C}{(E-E_F)^2 (E-E_F)^2 ($ 

 $\implies K_{p}^{2}T^{2}\int_{X}^{2}\frac{e^{Y}}{(e^{K}+1)^{2}}dK = K_{p}^{2}\frac{T^{2}}{6} \frac{\pi}{6} \frac{1}{12} \frac{\pi}{6} \frac{1}{12} \frac$ S.  $\int G(E) \left(-\frac{\partial F}{\partial E}\right) dE = G(E_P) + G'(E_P) + \frac{2}{P} + \frac{1}{P} + \dots$ . Integrate the 2HS by parts Judy = UV-Jvdu  $\int_{-\infty}^{\infty} G(\epsilon) \left( -\frac{\partial f}{\partial \epsilon} \right) d\epsilon = -G(\epsilon) F(\epsilon) \left( \frac{f}{\epsilon} \right) \left( \frac{f}{\epsilon} \right) \int_{-\infty}^{\infty} \frac{dG(\epsilon)}{d\epsilon} F(\epsilon) d\epsilon$ assume G(-a)=0 G(tas) will behaved  $6(E)F(E) \int_{-2}^{2} e^{-2}$ • In couclesion:  $\int_{-\alpha}^{\alpha} dG(E) f(E) dE = G(E_F) + \frac{\pi^2}{6} K_F^2 T^2 G''(E_F) + \dots$   $= \frac{\pi^2}{6} dE = G(E_F) + \frac{\pi^2}{6} K_F^2 T^2 G''(E_F) + \dots$ • Define  $\Gamma(E)$  such That  $G(E) = \int \Gamma(E')dE'$ 

Then :  $\int_{-\infty}^{\infty} \Gamma(E) F(E) dE = \int_{-\infty}^{E_F} \Gamma(E) dE + \frac{\pi^2}{6} (k_F T)^2 \frac{d\Gamma(E)}{dE} | F(E) |$ -20 Sommerfeld expansion • Rapidly convergent. For example counder  $G(E) = E^{\uparrow}$  $= 5 \text{Thun} \int \frac{d}{d\epsilon} \frac{G(\epsilon)}{\epsilon} F(\epsilon) = G(\epsilon_{\text{F}}) + \frac{\pi^{2}}{\epsilon} P(\rho_{\text{-}}) \left(\frac{k_{\text{F}}T}{\epsilon_{\text{F}}}\right)^{2} \frac{\rho_{\text{obsumin}}}{G(\epsilon_{\text{F}})} + \dots$ Terms decrease like (KAT)<sup>2n</sup> . Use S.E on DOS at finite T  $\int dv = \int E_F$   $\int D(E)F(E)dE = N = \int D(E)dE + \frac{11}{6}K_F^2 = \frac{1}{2}dD(E) [+...$   $\frac{1}{2}$ 

5.:  $\frac{dN}{dT} = \sigma = \frac{d \ \epsilon_F}{dT} D(\epsilon_F) + \frac{\pi^2}{3} R^2 T \frac{d \ D(\epsilon_F)}{d\epsilon} + \dots,$  $\implies \frac{dE_F}{dT} = -\frac{\eta^2}{3} k_F^2 T \frac{D'(E_F)e}{D(E_F)e} \frac{dD(e)}{dE} \Big|_{e=E_F}$ For  $3D \in gas D(E) \prec E^{1/2} s_{0}$  $\frac{D'(E_F)}{D(E_F)} = \frac{V_2 \ 1/VE_F}{VE_F} = \frac{1}{2E_F} \quad and \quad \frac{dE_F}{dT} = \frac{17^2 k_T^2}{6 k_F} \frac{1}{E_F}$  $E_F \frac{dE_F}{dT} = \frac{-\eta^2}{6} \mu^2 T$ Integrate Both sides : E  $\frac{1}{2} \frac{d(f_{P}^{2})}{dT} = \frac{-\Pi^{2}}{6} k_{P}^{2} T$  $\frac{1}{z}\int \frac{d}{dT'} \left(E_{F}^{2}\right) dT' = \frac{\pi^{2}}{6}h_{F}^{2}\int T' dT'$  $= \sum \frac{1}{2} \left[ \xi_{F}^{2}(T) - \xi_{F}^{1}(0) \right] = \frac{1}{12} \kappa_{F}^{2} T = \sum \xi_{F}^{2}(T) = \left| \xi_{F}^{2}(0) - \frac{1}{12} \kappa_{F}^{2} T^{2} \right| = \sum \xi_{F}^{2}(T) = \left| \xi_{F}^{2}(0) - \frac{1}{12} \kappa_{F}^{2} T^{2} \right| = \sum \xi_{F}^{2}(T) = \left| \xi_{F}^{2}(0) - \frac{1}{12} \kappa_{F}^{2} T^{2} \right| = \sum \xi_{F}^{2}(T) = \left| \xi_{F}^{2}(0) - \frac{1}{12} \kappa_{F}^{2} T^{2} \right| = \sum \xi_{F}^{2}(T) = \left| \xi_{F}^{2}(0) - \frac{1}{12} \kappa_{F}^{2} T^{2} \right| = \sum \xi_{F}^{2}(T) = \left| \xi_{F}^{2}(0) - \frac{1}{12} \kappa_{F}^{2} T^{2} \right| = \sum \xi_{F}^{2}(T) = \left| \xi_{F}^{2}(0) - \frac{1}{12} \kappa_{F}^{2} T^{2} \right| = \sum \xi_{F}^{2}(T) = \left| \xi_{F}^{2}(0) - \frac{1}{12} \kappa_{F}^{2} T^{2} \right| = \sum \xi_{F}^{2}(T) = \left| \xi_{F}^{2}(0) - \frac{1}{12} \kappa_{F}^{2} T^{2} \right| = \sum \xi_{F}^{2}(T) = \left| \xi_{F}^{2}(0) - \frac{1}{12} \kappa_{F}^{2} T^{2} \right| = \sum \xi_{F}^{2}(T) = \left| \xi_{F}^{2}(0) - \frac{1}{12} \kappa_{F}^{2} T^{2} \right| = \sum \xi_{F}^{2}(T) = \left| \xi_{F}^{2}(0) - \frac{1}{12} \kappa_{F}^{2} T^{2} \right| = \sum \xi_{F}^{2}(T) = \left| \xi_{F}^{2}(0) - \frac{1}{12} \kappa_{F}^{2} T^{2} \right| = \sum \xi_{F}^{2}(T) = \left| \xi_{F}^{2}(0) - \frac{1}{12} \kappa_{F}^{2} T^{2} \right| = \sum \xi_{F}^{2}(T) = \left| \xi_{F}^{2}(0) - \frac{1}{12} \kappa_{F}^{2} T^{2} \right| = \sum \xi_{F}^{2}(T) = \left| \xi_{F}^{2}(0) - \frac{1}{12} \kappa_{F}^{2} T^{2} \right| = \sum \xi_{F}^{2}(T) = \left| \xi_{F}^{2}(0) - \frac{1}{12} \kappa_{F}^{2} T^{2} \right| = \sum \xi_{F}^{2}(T) = \left| \xi_{F}^{2}(0) - \frac{1}{12} \kappa_{F}^{2} T^{2} \right| = \sum \xi_{F}^{2}(T) = \left| \xi_{F}^{2}(0) - \frac{1}{12} \kappa_{F}^{2} T^{2} \right| = \sum \xi_{F}^{2}(T) = \left| \xi_{F}^{2}(0) - \frac{1}{12} \kappa_{F}^{2} T^{2} \right| = \sum \xi_{F}^{2}(T) = \left| \xi_{F}^{2}(0) - \frac{1}{12} \kappa_{F}^{2} T^{2} \right| = \sum \xi_{F}^{2}(T) = \left| \xi_{F}^{2}(0) - \frac{1}{12} \kappa_{F}^{2} T^{2} \right| = \sum \xi_{F}^{2}(T) = \left| \xi_{F}^{2}(0) - \frac{1}{12} \kappa_{F}^{2} T^{2} \right| = \sum \xi_{F}^{2}(T) = \left| \xi_{F}^{2}(T) - \xi_{F}^{2}(T) \right| = \sum \xi_{F}^{2}(T) = \left| \xi_{F}^{2}(T) - \xi_{F}^{2}(T) \right| = \sum \xi_{F}^{2}(T) = \left| \xi_{F}^{2}(T) - \xi_{F}^{2}(T) \right| = \sum \xi_{F}^{2}(T) = \sum \xi_{F}^{2}(T) = \left| \xi_{F}^{2}(T) - \xi_{F}^{2}(T) \right| = \sum \xi_{F}^{2}(T) = \sum \xi_{F}^{2}$  $= E_{F}(0) \bigvee \left[ -\frac{\eta^{2}}{6} \frac{\chi_{F}^{2} \tau^{2}}{E_{F}(0)} \right]$ 

 $E_{F}(T) \rightarrow E_{F}(0) \begin{bmatrix} I - \Pi^{2} (\underbrace{k_{F}T}_{F})^{2} \\ Iz (\underbrace{E_{F}(0)}_{F})^{2} \end{bmatrix} \xrightarrow{-Slow} decrease of E_{F}(0) \begin{bmatrix} I - \Pi^{2} (\underbrace{k_{F}T}_{F})^{2} \\ E_{F}(0) \end{bmatrix} \xrightarrow{-Slow} decrease of E_{F}(0) \begin{bmatrix} I - \Pi^{2} (\underbrace{k_{F}T}_{F})^{2} \\ E_{F}(0) \end{bmatrix} \xrightarrow{-Slow} decrease of E_{F}(0) \begin{bmatrix} I - \Pi^{2} (\underbrace{k_{F}T}_{F})^{2} \\ E_{F}(0) \end{bmatrix} \xrightarrow{-Slow} decrease of E_{F}(0) \begin{bmatrix} I - \Pi^{2} (\underbrace{k_{F}T}_{F})^{2} \\ E_{F}(0) \end{bmatrix} \xrightarrow{-Slow} decrease of E_{F}(0) \begin{bmatrix} I - \Pi^{2} (\underbrace{k_{F}T}_{F})^{2} \\ E_{F}(0) \end{bmatrix} \xrightarrow{-Slow} decrease of E_{F}(0) \begin{bmatrix} I - \Pi^{2} (\underbrace{k_{F}T}_{F})^{2} \\ E_{F}(0) \end{bmatrix} \xrightarrow{-Slow} decrease of E_{F}(0) \begin{bmatrix} I - \Pi^{2} (\underbrace{k_{F}T}_{F})^{2} \\ E_{F}(0) \end{bmatrix} \xrightarrow{-Slow} decrease of E_{F}(0) \begin{bmatrix} I - \Pi^{2} (\underbrace{k_{F}T}_{F})^{2} \\ E_{F}(0) \end{bmatrix} \xrightarrow{-Slow} decrease of E_{F}(0) \begin{bmatrix} I - \Pi^{2} (\underbrace{k_{F}T}_{F})^{2} \\ E_{F}(0) \end{bmatrix} \xrightarrow{-Slow} decrease of E_{F}(0) \begin{bmatrix} I - \Pi^{2} (\underbrace{k_{F}T}_{F})^{2} \\ E_{F}(0) \end{bmatrix} \xrightarrow{-Slow} decrease of E_{F}(0) \begin{bmatrix} I - \Pi^{2} (\underbrace{k_{F}T}_{F})^{2} \\ E_{F}(0) \end{bmatrix} \xrightarrow{-Slow} decrease of E_{F}(0) \begin{bmatrix} I - \Pi^{2} (\underbrace{k_{F}T}_{F})^{2} \\ E_{F}(0) \end{bmatrix} \xrightarrow{-Slow} decrease of E_{F}(0) \begin{bmatrix} I - \Pi^{2} (\underbrace{k_{F}T}_{F})^{2} \\ E_{F}(0) \end{bmatrix} \xrightarrow{-Slow} decrease of E_{F}(0) \begin{bmatrix} I - \Pi^{2} (\underbrace{k_{F}T}_{F})^{2} \\ E_{F}(0) \end{bmatrix} \xrightarrow{-Slow} decrease of E_{F}(0) \begin{bmatrix} I - \Pi^{2} (\underbrace{k_{F}T}_{F})^{2} \\ E_{F}(0) \end{bmatrix} \xrightarrow{-Slow} decrease of E_{F}(0) \begin{bmatrix} I - \Pi^{2} (\underbrace{k_{F}T}_{F})^{2} \\ E_{F}(0) \end{bmatrix} \xrightarrow{-Slow} decrease of E_{F}(0) \begin{bmatrix} I - \Pi^{2} (\underbrace{k_{F}T}_{F})^{2} \\ E_{F}(0) \end{bmatrix} \xrightarrow{-Slow} decrease of E_{F}(0) \begin{bmatrix} I - \Pi^{2} (\underbrace{k_{F}T}_{F})^{2} \\ E_{F}(0) \end{bmatrix} \xrightarrow{-Slow} decrease of E_{F}(0) \\ E_{F}(0) \begin{bmatrix} I - \Pi^{2} (\underbrace{k_{F}T}_{F})^{2} \\ E_{F}(0) \end{bmatrix} \xrightarrow{-Slow} decrease of E_{F}(0) \\ E_{F}(0) \\$ Chemical potential decreases with T) \* Other properties of the face egas: Specific Heat : C\_ = SQ / Cx Tennire quantity (hependos change in internal energy U: du=SG+SZ SZ = O if mechanical Work Warn done on system SZ = - palv if jur T mechanical No #\*\*  $C_{V} = \frac{dV}{dT} I_{V}$ U(t) = SEDCE)F(E)dE  $= \int \frac{\varepsilon}{E} \int \frac{1}{2} dE + \frac{1}{6} \frac{1}{6} \frac{1}{7} \frac$  $= \int E \mathcal{D}(E) dE + \frac{\Pi}{E} R_{P}^{2} T^{2} \left[ \mathcal{D}(E_{F}) + E_{F} \mathcal{D}(E_{F}) \right]$ 

So using  $\frac{d}{dT} \int \mathcal{E}_{\mathbf{F}}(G) d\mathcal{E} = \mathcal{E}_{\mathbf{F}} \mathcal{D}(\mathcal{E}_{\mathbf{F}}) \frac{d\mathcal{E}_{\mathbf{F}}}{dT}$ 

 $C_{V} = \frac{dU}{dT} \Big|_{z} = E_{F} O(E_{F}) \frac{dE_{F}}{dT} + \frac{\eta^{2}}{6} \frac{z}{F} \frac{z}{2} \frac{z}{2} \frac{z}{2} D(E_{F}) \frac{dE_{F}}{2} \frac{dE_{F}}$ 

We know from before That  $dE_F = -\frac{\pi^2}{3} = \frac{\pi^2}{2} \frac{2}{10} \frac{1}{(E_F)}$   $C_V = E_F D(E_F) \left[ -\frac{\pi^2}{3} K_F T \frac{D'(E_F)}{D(E_F)} \right] + \frac{\pi^2}{3} \frac{2}{P} \left[ T D(E_F) + TE_F D \right]$ 

 $= \frac{\Pi^{2}}{3} \left( \frac{2}{\beta} + D \left( \frac{2}{\beta} + \frac{2}{\beta} \right) \right)$ · Since D(Er) is weatly T dependent, we can write

 $C_{V} = \frac{\pi^{2}}{3} h_{p}^{2} TD[E_{p}(0)]$ 

Only electronic contribution To Cr (N.T bitice yet!).  $DOS(3D) \rightarrow D(E) = V \frac{(2m)^{3/2}}{2\pi^2 h^3} E^{1/2}$ 

 $= \sum C_{V} = \frac{\eta^{2}}{3} \frac{z}{\mu} = \frac{3}{2} \frac{N}{E_{F}} = \frac{\eta^{2}}{2} \frac{1}{\kappa_{F}} \frac{1}{T_{F}} = \frac{\eta^{2}}{2} \frac{1}{\kappa_{F}} \frac{1}{T_{F}} = \frac{1}{2} \frac{1}{\kappa_{F}} \frac{1}{\tau_{F}} = \frac{1}{2}$ E contribute to If heat is received as part of a reversible CV process in a closed system The 2nd Law of Thermodynamic STOTES:  $ds = \frac{dQ}{T} C_{v} = T \frac{ds}{dT} \int_{V}$  $\int \frac{dS}{dT} dT' = \int \frac{C_v}{T_v} dT' = \int \frac{T}{3} \frac{z}{k_p} D[\epsilon_p G] dT'$  $S(T) - S(0) = \frac{\Pi^2}{3} * \frac{2}{P} T D[E_P(0)] = C_V$ S=C\_ => entropy of e system is The some as leat copacity.

Sommerfeld The of Metals Semmary - Electrons fill in energy states up To termi beal - AT finite T, occupation of states is given by termin distribution - Tunperature dependence of properties or quantities little EF, internal mergy, Cor can be computed voing Sommerfeld expansion. \$ Ep is weatly T dependent since Ep >> KpT - that capacity in The same as entropy in The electronic system.